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Ideals for irreducible component#ﬂ)f Xpar

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I = (—u® +u® — 4u® + 4u” — 4u® 4 6u® 4 5u® — 3u® + 2d 4 2u — 2,
— a4t — 4u® 4 40® — 50" + Tub — u® + Tut — ud 4+ + 4e,
—u? +u® — 40" 4 3u8 — 5u® + 3ut — 20 + 3u? 4+ 20— 2u + 2,
—utt — % —20% — 6u® + 30" — 9ub + 9u® — ut + 3ud — 3u? +4a — 4,
u? —utt 4 6ul® — 6u® + 1308 — 130" + 1108 — 13u® + 5u® — Tu® + 8u? — 4u + 4)
Iy = (u* +2u® + d, —u® 4+ 2u® — 6u” + 10u® — 13u® + 18u* — 11u® + 11u? +2c —u — 1,
—u? —6u" 428 — 130 + 8ut — 11 + 9u® + 20 —u+1, —u® —3ut —2u® +a+1,
u® —uf + 6u® — 6u” + 13u8 — 13u° + 11u* — 10u® + 2u® + 1)
I = (u* +2u* + d, —u® + 2u® — 6u” + 10u’® — 13u® + 18u* — 11u® + 11u? + 2¢ — u — 1,
u? 4+ 6u” — 2u® + 13u® — 8ut + 11u® — 9u? + 2b + 3u — 1,
3u? — 4u® + 200" — 22u° + 49u° — 46u* + 490> — 37u® + 2a + 11u — 3,
u® —uf + 6u® — 6u” + 13u8 — 130° + 11u* — 10u® + 2u® + 1)
I = (—u® —4u” — 3u® — 2u* 4 Tu® — 5u? + 2d + 9u — 1,
—3u® +2u® — 18u” + 14u°® — 39u® + 34u* — 33u® + 290 4+ 2¢ — Su + 1,
—u? —6u" 4+ 2u8 — 130 + 8ut — 11 + 9 + 20— u+1, —ub —3ut — 20> +a+1,
u'® —u® + 6u® — 6u” + 13u° — 13u° + 11u* — 10u® + 2u® + 1)
Ig:<—u3+d7u, c—u, —u® =2 —uP+b—1, —u" +2u® —u® + 20t + 203 +2a —u+1,
u® + 3u® + 2u° + 2ut 4+ 4u® +u? +u + 2)
Ig:<u6+u5+u4+3u3+d+u+1, —u" —u® =2t 20 — 20+ 2c+u+1, b—u, a,
u® + 3ub + 2u° 4 2ut + 4ud +u? +u+2)
=@ +u’+ut +3u +d+u+1, —u” —u® —2u* +2u® —20® + 2c +u+1, —u® —2u® —u? +b—1,
—u” 4+ 2u® —u® 2ut +2u® + 20 —u+ 1, u® 4+ 3ub 4 208 + 2ut + 4ud + U+ u+2)
IY={(-u’+d—u, c—u, b—u, a, u* +u* +u+1)
=@ +d+u+1, c—u, —ua—u®>+2b—a—2, 2u%a+a®+4u? +2a+3u+5, u®+u®+2u+1)
Iy = (uPc+2cu —u? +d+c—u—2, —2u*c+c® —cu+3u® —de+u+5, b—u, a, u® +u®+2u+1)



I = (—v?a —au+2d —u — 3, —u?a — 3u® +2c—a —2u — 6, —u?a —u® +2b—a — 2,
2ua + a® + 4u* + 2a + 3u+5, ud +u? +2u+ 1)

I = (—ud4+d—u, c—u, b—u, a, ub —u® + 2u* — 2u® + 2u? — 2u 4 1)

Iy =(—ud+d—u, c—u, —u® =20 +u>+b—u+1, v’ —u* —2u* +a, u® —u® +2u* —2u® +2u® —2u + 1)

Iy = (2u® —u* + 20 — 20 + d+2u, vt +u® 4 e+ 1, b—u, a, ub —u® + 2u* — 203 + 2u% — 2u+ 1)

I ={(d+1, c—u, b, a —u, u*>+1)

I ={(d+1,c—u, b—u, a—1, u* +1)

It ={(d—wu, ¢, b—u, a—1, u> +1)

Iy =(da+u+1, c— u,b—u7 u? +1)

IV ={(a, d4+v, c+a+1, b—v, v* +1)

* 18 irreducible components of dim¢ = 0, with total 114 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(—u%4+u+.--+2d—2, —u +u'®+- .- +u?+4c, —u? +u®+
e +204+2, —utt — %+ ...+ 40— 4, w2 —ut +--- —4u +4)

(i) Arc colorings

o ()

0
ag = \u
1
a4— u2
Lyll - 110 4o g Ly — 12
a1l = %UIO %U9+—’LL+1
iu11+iuw+~- +%u2—|—1
ar = %ug—%us—im- +u—1
—§u11+éu10+- —u+1
a1o0 = —%u9—§u7—|—-~ +u+1
—iull—l—%ulo—&—---—gu—kl
az= \ —2u®+ 10+ 4u-1
_iu11+}1“10+"'_iu2_%u
a1 = —%ulo—l—%ug—i— +u—1
%u” qul® 4. tu—1
a2 = \ u'l® 4+ 2u® + —&—%uQ—u
iull—i—ium—k--—%u—&-l
Ge = —%ulo—k%ug—&— +u—1
U
ag = (u3+u>

u? 41
as = \u* + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = u'! + u!® +6u” 4+ 2u® + 130" — ub + 5u’® — 5ut — 11u3 —u? +2u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 w2 +5ut o+ 6u+1
265,66 12 M 4 3010 4300 4 7u® 4 7T 4 8uS + Tu® + 9ut + 6u° + 3u® + 1
C7,C10,C12
C3,C4,Cs u+ut o+ du+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1, Cg, C11 y12+9y11+-~-+18y+1

Cg,Cs, Cg y12+5y11+---+6y+1
C7,C10,C12

C3,C4,C8 y 2+ 11yt 4+ 48y + 16




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.930547 + 0.1799551
0.670259 + 1.1629901
—0.563501 4 1.1886201 | —5.48513 — 12.855601 | —4.74505 + 9.298631
—1.40294 — 1.168241
—1.51082 — 1.448891

SO ST
([

0.930547 — 0.1799551
0.670259 — 1.1629901
—0.563501 — 1.1886201 | —5.48513 + 12.855601 | —4.74505 — 9.298631
—1.40294 + 1.168241
—1.51082 + 1.448891

—0.686814 + 0.5514801
—0.796508 + 0.7456311

0.603454 + 0.8166481 0.72149 4 5.928931 1.32923 — 9.678611
c= 0.968608 — 0.6573141
d = —0.163512 — 0.7555851

> Q2 £ 0 o 8 g o
1

u = —0.686814 — 0.5514801

= —0.796508 — 0.7456311
b= 0.603454 — 0.8166481 0.72149 — 5.928931 1.32923 + 9.678611
c= 0.968608 4 0.6573141
—0.163512 + 0.7555851

u = 0.185101 + 0.7437461
a= 0370768 + 0.4499661
b = —0.222861 + 0.4204711 0.425064 — 1.1271601 | 4.87896 + 6.405961
c=—0.277347 + 0.1019051
d=10.209277 + 0.4226291

u= 0.185101 — 0.7437461
a= 0.370768 — 0.4499661
b= —0.222861 — 0.4204711 0.425064 + 1.1271601 4.87896 — 6.405961
c= —0.277347 — 0.1019051
d=10.209277 — 0.4226291




Solutions to I}

V=1(vol + y=1C)

Cusp shape

QL o o= 2 &
Il

—0.18488 + 1.423001
—1.041110 4 0.7192761
0.842304 — 0.4483621
—0.567633 — 0.2835581
—0.62794 + 1.298881

7.14373 + 1.016261

7.50962 + 1.512341

ST ST
I |

—0.18488 — 1.423001
—1.041110 — 0.7192761
0.842304 + 0.4483621
—0.567633 + 0.2835581
—0.62794 — 1.298881

7.14373 — 1.016261

7.50962 — 1.512341

0.40234 + 1.400491

= —1.76208 — 0.329101

0.593901 — 1.2317701
—1.185730 4+ 0.4908841
—1.36730 — 2.057801

—0.4877 — 17.63271

—1.23582 4 10.460431

> Q@ 2l o o2 gl o
Il

0.40234 — 1.400491
—1.76208 + 0.329101

0.593901 + 1.2317701
—1.185730 — 0.4908841
—1.36730 + 2.057801

—0.4877 + 17.63271

—1.23582 — 10.460431

= —0.14629 4 1.487751

1.55868 + 0.320701
—0.753298 — 0.9413851

0.965047 + 0.1193561

0.460302 — 0.2416411

7.55213 + 8.707871

4.26306 — 7.955991

b=
C =

d:

—0.14629 — 1.487751
1.55868 — 0.320707
—0.753298 + 0.9413851
0.965047 — 0.1193561
0.460302 + 0.2416411

7.55213 — 8.707871

4.26306 + 7.955991




IL Iy = (u*+2u? +d, —u® +2u8+---+2c—1, —u® —6u”" +---+2b+
1, —ub —3u*—2u?2+a+1, vl —u®+.-- +2u%+1)

(i) Arc colorings

o ()

0
ag = u
1
ag = \ 42
suf —uP -+ Lu+
a1 = —ut — 22
( ub + 3ut +2u% -1 )
= |10 7 1 1
ar su” +3u" + -+ Ju—3
—%u9—3u7+---+§u+%
a0 =\—zu? —=3u" + -+ 3u+3
%u9+2u7+'~fgu+%
a2 = f%u972u7+~ +%uf%
—u3 —2u
a1 = —%u9—2u7—|—- —|—%u—%
—u® — 5ub +u® — 8u* + 4u® — 3u? +du + 1
a1z = 1
%u9+2u7+~~73u+%
ag = —u
U
ag = \u+u
u? +1
as = \u* + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 2u” + 20u® — 10u® + 32u* — 20u® + 12u? — 14u — 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Co wl® + 44 + 10u® + 14u” + 15u® + 10u® + Tu + 50 + 11u? + 11lu+4
€2, €5, C7 ul® — 20 + 4u® — 447 + 508 — 6u° + Tut — Tud + 5u® — 3u+2
C10
C3,C4, C8 u'® 4+ 4?4 6u® + 6u” + 13u8 + 13u® + 11u* + 10u® + 202 + 1
Cg,C12 w® + 0 +3u® +3u" +4u® +4u® + 3ut +5uP 4w +4du+ 4
c11 u'® + 5u” 4+ 11u® + 1307 + 8ub + 2u® +u? — u® + 16u + 16
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,C9 0+ 4y + ... — 33y + 16

2,65, €7 Y10+ 4y + 10y° + 1497 + 15¢° + 10y° + Ty + 5% + 11y% + 11y + 4
€10
10 9

C3,Cy4,C8 yo 4+ 11y + 44y +1

C6, C12 v+ 5y +11y° +13y" +8y° + 2° +y* —y° + 16y + 16

c11 y'0 —3y% + .- — 256y + 256
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.748770 + 0.1384621
0.92253 + 1.261851
—0.439859 + 1.1183701 | —7.31978 — 3.816951 | —7.33347 4 4.737611
—1.60028 — 1.018041
—1.33318 — 0.639261

S ST
([

0.748770 — 0.1384621
0.92253 — 1.261851
—0.439859 — 1.118370I | —7.31978 + 3.816951 | —7.33347 — 4.737611
—1.60028 + 1.018041
—1.33318 + 0.639261

0.28433 + 1.412601
0.919982 + 0.6941701
—0.910142 — 0.3140631 5.18879 — 6.456701 5.02275 4 3.647941
0.488875 — 0.4181821
0.80878 + 1.469341

0.28433 — 1.412601
0.919982 — 0.6941701
—0.910142 + 0.3140631 5.18879 4 6.456701 5.02275 — 3.647941
0.488875 + 0.4181821
0.80878 — 1.469341

> Q2 Bl 0 o8 g0 o9 g0
([ I

—0.35489 + 1.408141
1.79571 — 0.203761

= 1.132790 + 0.4398881
= 1.26468 —1.712907

= —0.35489 — 1.408141
= 1.79571 4 0.203761
= —0.609606 + 1.1802801 2.57186 — 12.006001 1.91374 + 7.392321
1.132790 — 0.4398881

d= 1.26468 + 1.712901

c
d
U
a
b = —0.609606 — 1.1802801 2.57186 + 12.006001 1.91374 — 7.392321
c
d
U
a
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.05139 + 1.482961
= —1.43312 + 0.498631
0.782018 — 0.8122361
—0.856742 4 0.0027991
—0.408434 + 0.3647101

8.34709 — 2.883631

6.09026 + 2.854641

0.05139 — 1.482961
—1.43312 — 0.498631

0.782018 + 0.8122361
—0.856742 — 0.0027991
—0.408434 — 0.3647101

>~ Q@ gl o oo 8 8
1 | [

8.34709 + 2.883631

6.09026 — 2.854641

—0.229588 4 0.3552271
= —1.205100 — 0.2526171
0.177588 + 0.7964691
1.33535 + 0.833961

0.168159 + 0.3022541

—3.85316 + 1.057731

—3.69328 — 6.233301

—0.229588 — 0.3552271
—1.205100 + 0.2526171
0.177588 — 0.7964691
c= 1.33535—0.833961
d=0.168159 — 0.3022541

>~ Q@ gl o0 oo 2 gl o

—3.85316 — 1.057731

—3.69328 + 6.233301
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I I¥ = (u* +2u? +d, —u® +2u8+---+2c—1, % +6u” +.--+2b—
1, 3u® —4ud +---4+2a -3, ' —w¥ +..- +2u%2 4+ 1)

(i) Arc colorings

o ()

ag =

\

oo
S

©
+
[\
£

oo
+

\

=
e

S

[S][S¢ V)

© ©

|

w

I

]

+
+ +
M:\W:M—\
+ + +
N

+u85u7+5u69u5+8u45u3+2u2+2u3>

(
(
(
(
(
as = ( O uT 4o Ly
(
(
(
(

ay = % + 2U7 + — 5’1,6 -3

u® —u® +6u” —5ub + 120° — Sut + Tu® — 2u? —3u+3
a12 = 1

20 20"+ =By L
ag = —Uu

U
ag = \ud+u
uw? +1
as = \y? + 22
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 2u” + 20u® — 10u® + 32u? — 20u? + 12u? — 14u — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 w'® + 50 + 11u® + 130" + 8u8 4 2u° + u* — w® + 16u + 16
Co,C7 u® + 0 + 30 +3u" + 4u® + 4u® + 3ut +5u + 4w +4du+4
C3,C4,C8 ul® + 0 + 6u® + 607 + 13u8 + 13u° + 11u* + 100> + 20 + 1
€5, 6, €10 w'® — 20° + 4u® — 4u” + 508 — 6w’ + Tut — Tud + 5u® — 3u+2
C12
Cg, C11 w® + 4u” + 10u® + 144" + 1508 + 100° + 7o + 50 + 11w + 1lu+ 4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 y'% —3y? + - — 256y + 256
ca,C7 y0 + 5y + 1198 + 13y" 4+ 8y + 24° + y* — ¢® + 16y + 16
10 9
C3,C4,Cg Y +11y ++4y+1
€526, C10 110 4 a4y 4+ 10y% + 14y7 + 15y° + 10y° + Ty" + 5y® + 11y% + 11y +4
C12
€y, C11 y' + 4y’ +--- — 33y + 16
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.748770 + 0.1384621
0.68224 — 1.787541
—0.308911 — 1.2568301 | —7.31978 — 3.816951 | —7.33347 4 4.737611
—1.60028 — 1.018041
—1.33318 — 0.639261

S ST
([

0.748770 — 0.1384621
0.68224 + 1.787541
—0.308911 4 1.256830I | —7.31978 + 3.816951 | —7.33347 — 4.737611
—1.60028 + 1.018041
—1.33318 + 0.639261

0.28433 + 1.412601
—1.82670 — 0.002761
0.625816 — 1.0985301 5.18879 — 6.456701 5.02275 4 3.647941
0.488875 — 0.4181821
0.80878 + 1.469341

0.28433 — 1.412601
—1.82670 4 0.002761
0.625816 + 1.0985301 5.18879 4 6.456701 5.02275 — 3.647941
0.488875 + 0.4181821
0.80878 — 1.469341

> Q Bl 0 o8 g0 o9 g0
([ I

—0.35489 + 1.408141
= —0.859188 + 0.6699261

= 1.132790 + 0.4398881
= 1.26468 — 1.712907

= —0.35489 — 1.408141
= —0.859188 — 0.6699261
= 0.964500 + 0.2278561 2.57186 — 12.006001 1.91374 + 7.392321
1.132790 — 0.4398881

d=1.26468 + 1.712901

c
d
U
a
b= 0.964500 — 0.2278561 2.57186 + 12.006001 1.91374 — 7.392321
c
d
U
a
b

17



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.05139 + 1.482961

1.253620 + 0.6043041
—0.833404 — 0.6707211
—0.856742 + 0.0027991
—0.408434 + 0.3647101

8.34709 — 2.883631

6.09026 + 2.854641

0.05139 — 1.482961

1.253620 — 0.6043041
—0.833404 4+ 0.6707211
—0.856742 — 0.0027991
—0.408434 — 0.3647101

>~ Q@ gl o o8 8
1 | [

8.34709 + 2.883631

6.09026 — 2.854641

—0.229588 + 0.3552271
= —0.74997 — 4.377811
0.051999 — 1.1517001
1.33535 + 0.833961
0.168159 + 0.3022541

—3.85316 + 1.057731

—3.69328 — 6.233301

—0.229588 — 0.3552271
—0.74997 4 4.377811
0.051999 + 1.1517001
c= 1.33535—0.833961
d=0.168159 — 0.3022541

>~ Q@ gl o0 oo 2 gl o

—3.85316 — 1.057731

—3.69328 + 6.233301
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IV.I =(—u® —4u"+---+2d—1, —3u® +2ud + ... +2c+1, —u® —6u” +
e+ 2041, —u® —3ut —2u?+a+1, u® —u® 4+ +2uZ +1)

(i) Arc colorings

o ()

0
ag = u
1
a4 = u2
3,9 8 5 1
ann = %u9+2u7+~-~—%u+%
wS +3ut+2u2 -1
ar = %u9+3u7+ ~+%u7%
gu9—2u8+ ~+%u—%
a10 = \ u? + 5u” + 8u® + u? — 6u
<5u9+2u7+'~gu+é>
= 1,9 7 1 1
az —su’ —2u' -+ ju—3
—u® —2u
a1 = —%u9—2u7+-~-+%u—%
2u? — ud + 120" — Tub + 26u® — 18u* +22u® — 1Tu? +3u — 1
a2 = u? + 5u” + 8u® + u 4+ u? — 6u
f§u972u7+~'~+%uf%
ag = §u97u8+~~+%u+%
u
ag = \ud +u
uw? +1
as = \y? + 202
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 2u” + 20u® — 10u® + 32u? — 20u? + 12u? — 14u — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C11 wl® + 44 + 10u® + 14u” + 15u® + 10u® + Tu + 50 + 11u? + 11lu+4
€2, €6, C7 ul® — 20 + 4u® — 447 + 508 — 6u° + Tut — Tud + 5u® — 3u+2
C12
C3,C4, C8 u'® 4+ 4?4 6u® + 6u” + 13u8 + 13u® + 11u* + 10u® + 202 + 1
c5,C10 w® + 0 +3u® +3u" +4u® +4u® + 3ut +5uP 4w +4du+ 4
Co u® 4+ 5u” + 110® + 13u” + 8u® + 2u® + u* — u® + 16u + 16

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,C11 y10+4y9—|—~-'—33y+16

2,6, €7 Y10+ 4y + 10y° + 1497 + 15¢5 + 10y° + Ty* 4 5y° + 11y% + 11y + 4
C12
10 9

C3,Cy4,C8 yo 4+ 11y + 44y +1

¢35 €10 ' +5y” +11y° + 13y" +8y° + 2° + y* —y® + 16y + 16

Co y'0 —3y% + ... — 256y + 256
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(vi) Complex Volumes and Cusp Shapes

Solutions to If v—1(vol + /—1C5) Cusp shape

0.748770 + 0.1384621
0.92253 + 1.261851
—0.439859 + 1.1183701 | —7.31978 — 3.816951 | —7.33347 4 4.737611
—1.73122 4+ 1.357171
—2.26783 — 0.054461

S ST
([

0.748770 — 0.1384621
0.92253 — 1.261851
—0.439859 — 1.118370I | —7.31978 + 3.816951 | —7.33347 — 4.737611
—1.73122 — 1.357171
—2.26783 + 0.054461

0.28433 + 1.412601

0.919982 + 0.6941701
—0.910142 — 0.3140631 5.18879 — 6.456701 5.02275 4 3.647941
—1.047080 + 0.3662891
—1.16328 — 1.178861

0.28433 — 1.412601

0.919982 — 0.6941701
—0.910142 + 0.3140631 5.18879 4 6.456701 5.02275 — 3.647941
—1.047080 — 0.3662891
—1.16328 + 1.178861

> Q2 Bl 0 o8 g0 o9 g0
([ I

—0.35489 + 1.408141
1.79571 — 0.203761

= —0.441314 — 0.5125371
= —0.99330 + 1.550201

= —0.35489 — 1.408141

= 1.79571 4 0.203761

= —0.609606 + 1.1802801 2.57186 — 12.006001 1.91374 + 7.392321
c = —0.441314 + 0.5125371
d = —0.99330 — 1.550201

c
d
U
a
b = —0.609606 — 1.1802801 2.57186 + 12.006001 1.91374 — 7.392321
c
d
U
a
b
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

0.05139 + 1.482961
= —1.43312 + 0.498631
0.782018 — 0.8122361
0.758680 — 0.1387161
0.366987 + 0.8859071

8.34709 — 2.883631

6.09026 + 2.854641

0.05139 — 1.482961
—1.43312 — 0.498631
0.782018 + 0.8122361
0.758680 + 0.1387161
0.366987 — 0.8859071

>~ Q@ gl o oo 8 8
1 | [

8.34709 + 2.883631

6.09026 — 2.854641

—0.229588 4 0.3552271
= —1.205100 — 0.2526171
0.177588 + 0.7964691
1.46094 + 2.782121
1.05742 — 2.038401

—3.85316 + 1.057731

—3.69328 — 6.233301

—0.229588 — 0.3552271
= —1.205100 + 0.2526171
0.177588 — 0.7964691
c= 146094 —2.782121
d= 1.05742 + 2.038401

>~ Q@ gl o0 oo 2 gl o

—3.85316 — 1.057731

—3.69328 + 6.233301
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V.I! =(—u*+d—u, c—u, —u’ —2u® —u?+b—1,
2a+1, ud +3ub + -+ +u+2)

(i) Arc colorings

2

u

1,7 15 g2y 1, 1
U +u” —u”+ ju—3
U —u—1
1

w4 3u— 1
w— w2t +2u—1

(
(
(
(
( 1,7 6 3 1
o (BN )
(
(
(
(

as = \ub +2u*+u
u

ag = \uyd+u
u?+1

a5 = u4+2u2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5 — 4u® + 8u* + 8u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,11 (u* + 2u® + 3u? + u + 1)?
C2,Cq, C7 (u4+u2_u+1)2
C12
€3, C4, Cs u® 4+ 3u® —2u° + 2ut — 4P U —u+2
Cg, C10
Co u® 4+ 6u” + 13u8 + 10u® — 2u* — 4u® +u? + 3u+ 4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C11 (" +2¢° + 7y + by + 1)°
€2, 6, C7 (y* +2y° +3y% +y + 1)?
C12
€3,C4,C5 y8+6y7+13y6+10y5 —2y4—4y3—|—y2+3y+4
Cg, C10
€9 y® —10y" + 45y° — 102y° + 82y* + 2493 +99% — 5 + 16
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

—0.856926 + 0.2286291
—0.766503 + 1.1173101
0.547424 + 1.1208701 | —2.62503 4 7.643381 | —1.77019 — 6.510871
—0.856926 + 0.2286291
—1.35181 + 0.720341

U
a
b

—0.856926 — 0.2286291
= —0.766503 — 1.1173101
0.547424 — 1.1208701 | —2.62503 — 7.643381 | —1.77019 + 6.510871
—0.856926 — 0.2286291
—1.35181 — 0.720341

0.511330 + 0.7190911
0.699144 + 0.6080691
—0.547424 4 0.5856521 0.98010 — 1.397091 3.77019 + 3.867361
0.511330 + 0.7190911
—0.148192 4 0.9112921

0.511330 — 0.7190911
0.699144 — 0.6080691
—0.547424 — 0.5856521 0.98010 + 1.397091 3.77019 — 3.867361
0.511330 — 0.7190911
—0.148192 — 0.9112921

0.036094 + 1.3047401
1.33473 + 1.081411
—0.547424 — 0.5856521 0.98010 + 1.397091 3.77019 — 3.867361

0.036094 + 1.3047401
—0.148192 — 0.911292]

0.036094 — 1.3047401
1.33473 — 1.081411

= —0.547424 + 0.5856521 0.98010 — 1.397091 3.77019 + 3.867361
c= 0.036094 — 1.3047401
d = —0.148192 + 0.9112921

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b
c
d
U
a

b
c
d
U
a

b
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

0.309502 + 1.3495001
—2.01737 — 0.122671

0.547424 — 1.1208701

0.309502 + 1.3495001
—1.35181 — 0.720341

—2.62503 — 7.643381

—1.77019 + 6.510871

0.309502 — 1.3495001
—2.01737 + 0.122671
= 0.547424 + 1.1208701
c= 0.309502 — 1.3495001
d = —1.35181 + 0.720341

U
a
b
c
d
U
a
b

—2.62503 + 7.643381

—1.77019 — 6.510871
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VI.
I = (ub4ub+---4+d+1, —u"—u®+---+2¢+1, b—u, a, u¥+3ub+

(i) Arc colorings

o ()

0
ag = U
1
a4— u2
a1 =\ —yS —w? —ut -3 —u—1
0
a7— u
a10 =\ —u’ —3u® —2u® —uwl4+u—1
1
a2: u2
u?+1
al— u2
%u7+3u5+u3 %qu%
a1z = 1
—uT = U+ Ju+ g
ag = ud +2ud +u +u+1
u
ag = \ud+u
u?+1
as = \y? + 22
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5 — 4u® + 8u* + 8u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u® 4 6u” + 13u’ + 100’ — 2u* — 4u® +u? +3u+4
€2, €3, C4 u® 4+ 3u —2u® + 2ut — 4P+ —u+2
C7,C8
Cs, Cg, C10 (U4 =+ u2 —u+ 1)2
C12
cy, C11 (u4+2u3+3u2 +u+1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y® —10y" + 45y° — 102y° + 82y* + 2493 + 99% — 5y + 16
DA B 6y + 135 + 1007 — 29" — 4y + 92 + 3y +4
€7,C8
OO0 (gt 42y 4 3y% by 1)
C12
C9, C11 (y* + 2y + Ty? + 5y +1)2
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

—0.856926 + 0.2286291
0
—0.856926 + 0.2286291 | —2.62503 + 7.643381 | —1.77019 — 6.510871
1.39892 — 1.058851
1.17165 — 1.211871

U
a
b

—0.856926 — 0.2286291

= 0

—0.856926 — 0.2286291 | —2.62503 — 7.643381 | —1.77019 + 6.510871
1.39892 + 1.058851
1.17165 + 1.211871

0.511330 + 0.7190911
0

0.511330 4+ 0.7190911 0.98010 — 1.397091 3.77019 + 3.867361

—0.620678 — 0.3811151

0.517398 — 0.1320581

0.511330 — 0.7190911
0

0.511330 — 0.7190911 | 0.98010 + 1.397091 | 3.77019 — 3.867361

—0.620678 4 0.3811151

0.517398 + 0.1320581

0.036094 + 1.3047401
0

0.036094 + 1.3047401 0.98010 + 1.397091 3.77019 — 3.867361

0.490144 + 0.0467581

0.98671 + 1.094791

0.036094 — 1.3047401
0

= 0.036094 — 1.3047401 0.98010 — 1.397091 3.77019 + 3.867361

c= 0.490144 — 0.0467581

d= 0.98671 —1.094791

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b

c
d
U
a

b

c
d
U
a

b
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

0.309502 + 1.3495001
= 0

0.309502 + 1.3495001
—1.018380 + 0.4753551
—1.67576 — 1.318181

—2.62503 — 7.643381

—1.77019 + 6.510871

0.309502 — 1.3495001
0

0.309502 — 1.3495001

¢ = —1.018380 — 0.4753551

d=—1.67576 4+ 1.318187

U
a
b
c
d
U
a
b

—2.62503 + 7.643381

—1.77019 — 6.510871
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VIL I = (ub+uS+---+d+1, —u" —ub+---+2c+1, —u® —2u3 —u? +
b—1, —u" +2u+---+2a+1, ud +3ub +--- +u+2)

(i) Arc colorings

o ()

ag =

17 b .1l 1
SU u° + + su 2)

1,7 6 3 1
Ul bl et put g >

a2 = \—u’ —2u*—u’ —u*"—u—1
1,74, 1,5 2,1, 1
5Uu" + 5u U+ 35U — 3
a1 = \ S — 2t -t —uZ—u-—1
1, 7_ .64 .. _ 3, 1
Ut —u”+ U — 3
a2 = 1
1,7 _ 1,5 . 1 1
2“5 2%+2+2u+2
ag = uw +2u+u+u+1
u
as = 3
8 u” +u
w41
as = \y? + 2u2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’ — 4u® + 8u* + 8u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢y (u* + 2u® + 3u? + u + 1)?
C2,Cs5,Ct (u4+u2_u+1)2
€10
€3, C4, G u® 4+ 3u® —2u° + 2ut — 4P U —u+2
€8, C12
c11 u® 4 6u” + 13u® + 100’ — 2u* —4u® +u? + 3u+4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, Co (y* + 23 + 79 + 5y + 1)?
€2, C5, C7 (y* +2y° +3y% +y + 1)?
€10
€3,C4,C6 y8+6y7+13y6+10y5 —2y4—4y3—|—y2+3y+4
€8, C12
c11 y® — 10y + 45y — 102y + 82y* + 24y + 9y> — y + 16
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

—0.856926 + 0.2286291
—0.766503 + 1.1173101
0.547424 + 1.1208701 | —2.62503 4 7.643381 | —1.77019 — 6.510871
1.39892 — 1.058851
1.17165 — 1.211871

U
a
b

—0.856926 — 0.2286291
= —0.766503 — 1.1173101
0.547424 — 1.1208701 | —2.62503 — 7.643381 | —1.77019 + 6.510871
1.39892 + 1.058851
1.17165 + 1.211871

0.511330 + 0.7190911
0.699144 + 0.6080691
—0.547424 4 0.5856521 0.98010 — 1.397091 3.77019 + 3.867361
—0.620678 — 0.3811151
0.517398 — 0.1320581

0.511330 — 0.7190911
0.699144 — 0.6080691
—0.547424 — 0.5856521 0.98010 + 1.397091 3.77019 — 3.867361
—0.620678 4 0.3811151
0.517398 + 0.1320581

0.036094 + 1.3047401
1.33473 + 1.081411
—0.547424 — 0.5856521 0.98010 + 1.397091 3.77019 — 3.867361
0.490144 + 0.0467581

0.98671 + 1.094791

0.036094 — 1.3047401
1.33473 — 1.081411
= —0.547424 + 0.5856521 0.98010 — 1.397091 3.77019 + 3.867361
c= 0.490144 — 0.0467581
d= 0.98671 — 1.094791

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b
c
d
U
a

b
c
d
U
a

b
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

0.309502 + 1.3495001
= —2.01737 — 0.122671
0.547424 — 1.1208701
—1.018380 + 0.4753551
—1.67576 — 1.318181

—2.62503 — 7.643381

—1.77019 + 6.510871

0.309502 — 1.3495001
—2.01737 + 0.122671

0.547424 + 1.1208701
¢ = —1.018380 — 0.4753551
d=—1.67576 4+ 1.318187

U
a
b
c
d
U
a
b

—2.62503 + 7.643381

—1.77019 — 6.510871
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VIIL I = (—u®+d—u, c—u, b—u, a, u*+u? +u+1)

(i) Arc colorings

w= (o)

+
1
a2 — u2
u? +1
ayp = u2
-1
a2 = \y? —u? -1
—u
a6 = \—ud —u?—u—1
U
ag = \uy3+u
u? +1
as = \u? —u-—1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u3 — 4u? + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
4 3 2
c1,C9,C11 u 4 2u”+3u+u+1
C2,C3,C4
4 2
C5,C6, C7 uwtut—utl
Cg, €10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
4 3 2
€1, Cg, C11 Yy +2y" +Ty" + 5y + 1
C2,C3,C4
* 4 2y3 4 3y 1
C5, Ce, C7 Yy 2yt + oyt +y+
Cg, €10, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = —0.547424 + 0.5856521
a= 0
b= —0.547424 4 0.5856521 0.98010 — 1.397091 3.77019 + 3.867361

= —0.547424 + 0.5856521
= —0.148192 + 0.9112921

= —0.547424 — 0.5856521
= 0

= —0.547424 — 0.5856521 0.98010 + 1.397091 3.77019 — 3.867361
= —0.547424 — 0.5856521
= —0.148192 — 0.9112921

= 0.547424 4+ 1.1208701

= 0.547424 +1.1208701 | —2.62503 + 7.643381 | —1.77019 — 6.510871
= 0.547424 + 1.1208701
= —1.35181 + 0.720341

= 0.547424 — 1.1208701
= 0

= 0.547424 — 1.1208701 | —2.62503 — 7.643381 | —1.77019 + 6.510871
= 0.547424 — 1.1208701

c
d
u
a
b
c
d
u
a= 0
b
c
d
U
a
b
c
d = —1.35181 — 0.720341
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IX. I =(u?*+d+u+1, c—u, —u?Pa—u?*+2b—a—2, 2u?a+4u?+---+
2a + 5, u3 +u? 4+ 2u + 1)

(i) Arc colorings

o ()

0
ag = u
1
ayq4 = u2
u
a1 =\ —y?—u—1
a
ar = %u2a+%u2+%a+1
w+2u+1
a9 = U2
—%u%—au—ug a—%u—Q
N i
f%auflgu2+~ fléaflg
ay = %U2a7§U2+"'+§a7§
%u2a+3u2+a+gu+4
a2 = 1
U+ 2
ag = —u
u
ag = \—u?—u—1

u+1
as = \u2+u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 6

43



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 ul 4+ 3u® +4ut + 203 + 1
€2, C6, C1 ub 4+ u® + 2ut 4+ 20 + 2u% + 2u + 1
C12
€3,C4,C5 (u? —u® + 2u— 1)
Cg, C10
9 (u® + 3u® + 2u — 1)*
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C11 Yo — g + Ayt — 207 + 8y + 1
C2,Ce, C7 y6 + 3y5 + 4y4 + 2y3 + 1
C12
C3,C4,C5 (y3+3y2+2y_1)2
Cg, C10
© (y* = 5y + 10y — 1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

—0.215080 + 1.3071401
—0.919774 + 0.8553791
0.713912 — 0.3058391 | —0.26574 + 2.828121 1.50976 — 2.979451
—0.215080 + 1.3071401
0.877439 — 0.7448621

SO ST
([

—0.215080 + 1.3071401
2.24449 4 0.269181
—0.498832 — 1.0013007 | —0.26574 + 2.828121 1.50976 — 2.979451
—0.215080 + 1.3071401

0.877439 — 0.7448621

—0.215080 — 1.3071401
—0.919774 — 0.8553791
0.713912 + 0.3058391 | —0.26574 — 2.828121 1.50976 + 2.979451
—0.215080 — 1.3071401
0.877439 + 0.7448621

—0.215080 — 1.3071401
2.24449 — 0.269181
—0.498832 4- 1.0013007 | —0.26574 — 2.828121 1.50976 + 2.979451
—0.215080 — 1.3071407

0.877439 + 0.7448621

> Q Bl 0 o g0 o9 gl o
I

—0.569840
—1.32472 + 1.683591

= —0.569840
= —0.754878

= —0.569840

= —1.32472 — 1.683591

= 0.284920 — 1.1151407 | —4.40332 —5.01950
c = —0.569840
d = —0.754878

c
d
U
a
b= 0.284920 + 1.1151401 | —4.40332 —5.01950
c
d
U
a
b
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X.
Iy = (u?c—u?+---+c—2, —2u?c+3u?+..-—4c+5, b—u, a, ud+u?+2u+1)

(i) Arc colorings
1
asz = O
ag =
c
—u?c—2cu+u?—c+u+2

u20+cu—2u2+2c—u—3)

(
(
(
(
S
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u® + 3u® +2u — 1)?
€2, €3, C4 (u? —u® + 2u— 1)
C7,C8
€5, C6, €10 ul +ud + 2ut 4+ 203 + 20 + 2u+1
C12
Cy, C11 uw® +3u® + 4ut + 20 + 1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 (y° — 5y° + 10y — 1)
C2,C3,Cy4 (y3+3y2+2y_1)2
C7,C8
€5, C6, C10 y6+3y5 +4y4+2y3+ 1
C12
€9, C11 Yo =y’ Ayt — 2% 8y 4 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

—0.215080 + 1.3071401
0
—0.215080 + 1.3071401 | —0.26574 + 2.828121 1.50976 — 2.979451
0.836473 + 0.4390231
1.93730 — 0.491941

SO ST
([

—0.215080 + 1.3071401
0

—0.215080 4 1.3071407 | —0.26574 + 2.828121 1.50976 — 2.979451

—0.376271 — 0.2564411

—0.81474 + 1.236801

—0.215080 — 1.3071401
0
—0.215080 — 1.3071407 | —0.26574 — 2.828121 1.50976 + 2.979451
0.836473 — 0.4390231
1.93730 + 0.491941

—0.215080 — 1.3071401
0

—0.215080 — 1.307140I | —0.26574 — 2.828121 1.50976 + 2.979451

—0.376271 4 0.2564411

—0.81474 — 1.236801

> Q Bl 0 o8 g0 o9 gl o
I

—0.569840
0

= 2.03980 + 1.1151471
= 1.377440 — 0.2063431

= —0.569840

= 0

= —0.569840 —4.40332 —5.01950
c= 2.03980 — 1.115141
d= 1.377440 + 0.2063431

c
d
U
a
b= —0.569840 —4.40332 —5.01950
c
d
U
a
b
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XL I}y =(—u?a—au+2d—u—3, —u?a—3u?’+.-.- —a—6, —u?a—u?®+
2b—a—2, 2v?a+4u?+---+2a+5, ud +u?+2u+1)

(i) Arc colorings

o ()

0
ag = u
1
Ay = u2
tula+ 3ut+ ta+u+3
a1 = %u2a + %au + %u + %
a
ar = %u2a+%u2+%a+l
u2a+3u2+-~-+%a+%
G1o0 = %u2a+§u2+---+%a+%
Lula—au—u? —a—tu—2
3 2
az = §u2a71u2+~ +%af%
—%au—§u2+-~-—§a—§
a1 = %uga §u2—|—-~ +30—3
%u2a+au+u2+a—|—%u—|—2
a2 = 1
%uQa—%ug—i—%a—l
a6 = %uQa—&—%uQ—l—%a—l—u—i—l
U
ag = \—u?—u-—1

u? 41
as = \u?+u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C9 u® +3ud +4ut + 20 + 1
€2, €5, C7 ub 4+ u® + 2ut 4+ 20 + 2u% + 2u + 1
€10
€3,C4, 6 (u? —u® + 2u— 1)
€8, C12
c11 (u® + 3u* + 2u — 1)?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,Co vy Ayt 28+ 8+ 1
C2,Cs5,C7 y6 + 3y5 + 4y4 + 2y3 + 1
C10
C3,C4,Cp (y3+3y2+2y_1)2
€8, C12
ci1 (y> = 5y* + 10y — 1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}4 VvV—1(vol + /—1CS) Cusp shape

—0.215080 + 1.3071401

—0.919774 + 0.8553791
0.713912 — 0.3058391 | —0.26574 + 2.828121 1.50976 — 2.979451
0.836473 + 0.4390231
1.93730 — 0.491941

SO ST
([

—0.215080 + 1.3071401
2.24449 4 0.269181
—0.498832 — 1.0013007 | —0.26574 + 2.828121 1.50976 — 2.979451
—0.376271 — 0.2564411

—0.81474 + 1.236801

—0.215080 — 1.3071401

—0.919774 — 0.8553791
0.713912 + 0.3058391 | —0.26574 — 2.828121 1.50976 + 2.979451
0.836473 — 0.4390231
1.93730 + 0.491941

—0.215080 — 1.3071401
2.24449 — 0.269181
—0.498832 4- 1.0013007 | —0.26574 — 2.828121 1.50976 + 2.979451
—0.376271 4 0.2564411

—0.81474 — 1.236801

> Q Bl 0 o g0 o9 gl o
I

—0.569840
—1.32472 + 1.683591

= 2.03980 + 1.1151471
= 1.377440 — 0.2063431

= —0.569840

= —1.32472 — 1.683591

= 0.284920 — 1.1151407 | —4.40332 —5.01950
c= 2.03980 —1.115141
d=1.377440 + 0.2063431

c
d
U
a
b= 0.284920 + 1.1151401 | —4.40332 —5.01950
c
d
U
a
b
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XIL 1%, =(—u¥+d—u,c—u, b—u, a, v —u®+-.- —2u+41)

(i) Arc colorings

w= (o)

ag =

ut+ut+1 )

a6 = \wd+2u®—u?+2u—1
U
ag = \uy3+u
uw? +1
as = \ y? + 202
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? + 4u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 u® +3ud +4ut + 20 + 1
C2,C3,C4
6 5 4 3 2
Cs,Co, C7 u’ +u’ 4+ 2u" + 2u” +2u” +2u+1
€8, €10, C12

56



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €9, C11 Yo — g + Ayt — 207 + 8y + 1
C2,C3,C4
64+ 3y° +4y* +2¢° + 1
C5, Ce, C7 Yy oy +ayt +2y7 +
Cg, €10, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}, V—1(vol ++/=1CS) Cusp shape
u = —0.498832 + 1.0013007
a= 0
b= —0.498832 + 1.0013007 | —0.26574 — 2.828121 1.50976 + 2.979451

c = —0.498832 + 1.0013001
d= 0.877439 4+ 0.7448621

u = —0.498832 — 1.0013007
a = 0

b= —0.498832 — 1.001300I | —0.26574 + 2.828121 1.50976 — 2.979451
c = —0.498832 — 1.0013007
d= 0.877439 — 0.7448621

u = 0.284920 4 1.1151401

a = 0

b= 0.284920 + 1.1151407 | —4.40332 —5.01951 + 0.1
c= 0.284920 + 1.1151407

d = —0.754878

u = 0.284920 — 1.1151401

a = 0

b= 10.284920 — 1.1151407 | —4.40332 —5.01951 4+ 0.1
c= 0.284920 — 1.1151407

d = —0.754878

uw=0.713912 + 0.3058391

a = 0

b= 0.713912 4 0.3058397 | —0.26574 — 2.828121 1.50976 + 2.979451

c= 0.713912 4 0.3058391
d= 0.877439 + 0.7448621

uw=0.713912 — 0.3058391
a= 0

b= 0.713912 — 0.305839I | —0.26574 + 2.828121 1.50976 — 2.979451
c= 0.713912 — 0.3058391
d= 0.877439 — 0.7448621
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XIIL. I, =
(—ul+d—u, c—u, —u®—2ud+---+b+1, u®—u*—-2u%+a, ub—us+--

(i) Arc colorings

w=0)

= (1)
= ( )
u
ud+u
—u® + ut + 202
u5—|—2u3—u2+u—1
( ub —u? +u)
u® — 2ut —|—2u —2u?+3u—2
az = —u® —ud —u
—2u? +u —2u?4+2u—2
ap = —u® —ud —u
—u® 4+ 2u* — 2uP + 2u? — 3u+2
1
u? + u? +1
a6 = \ud+2u —u?+2u—1
ag = (u +u>

u? +1
as = \u* + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u3 + 4u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 u® +3ud +4ut + 20 + 1
C2,C3,C4
6 5 4 3 2
Cs,Co, C7 u’ +u’ 4+ 2u" + 2u” +2u” +2u+1
€8, €10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €9, C11 Yo — g + Ayt — 207 + 8y + 1
C2,C3,C4
64+ 3y° +4y* +2¢° + 1
C5, Ce, C7 Yy oy +ayt +2y7 +
Cg, €10, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to Ij% VvV —1(vol + /—1CS) Cusp shape

u = —0.498832 4 1.0013001
a = —0.643729 + 0.6896031
b= 0.713912 + 0.3058391 | —0.26574 — 2.828121 1.50976 + 2.979451
c = —0.498832 + 1.0013001
d= 0.877439 4+ 0.7448621

u = —0.498832 — 1.0013001
a = —0.643729 — 0.6896031
b= 0.713912 — 0.305839I | —0.26574 + 2.828121 1.50976 — 2.979451
c = —0.498832 — 1.0013001
d=0.877439 — 0.7448621

u = 0.284920 4 1.1151401
a = —3.29468 — 0.841791

b= 0.284920 — 1.1151407 | —4.40332 —5.01951 4+ 0.1
c= 0.284920 4+ 1.1151401
d = —0.754878

u = 0.284920 — 1.1151401
a = —3.29468 4 0.841791

b= 0.284920 + 1.1151401 | —4.40332 —5.01951 4+ 0.1
c= 0.284920 — 1.1151407
d = —0.754878

u= 0.713912 + 0.3058391
a= 0.938404 + 0.9827031
b= —0.498832 + 1.0013001 | —0.26574 — 2.828121 1.50976 + 2.979451
c= 0.713912 4 0.3058391
d= 0.877439 + 0.7448621

u= 0.713912 — 0.3058391
a= 0.938404 — 0.9827031
b= —0.498832 — 1.0013001 | —0.26574 + 2.828121 1.50976 — 2.979451
c= 0.713912 — 0.3058391
d=0.877439 — 0.7448621
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Iy = 2u® —u+---+d+2u, v*+u®+c+1, b—u, a, ub—u’+--

(i) Arc colorings

w=0)
)
;)

ag =

2u° + ut

!

uu>

ag =

(
(
e
-
ol
o (2
(
e
(
e

ud —|—u>

u?+1
as = \y? + 2u2

—ut—u? -1
—2ud 4+ 2u? — 2u

3u® + 2ut

2u® + 2u?t

)

—2ud —3uP+u?—2u+1

XIV.

— 3u3 + 32 —3u+2>

-1
—2u3 4+ 2u? — 2u

2ut — 2u3 —|—2u —3u—|—2>

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? + 4u — 2

)
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 u® +3ud +4ut + 20 + 1
C2,C3,C4
6 5 4 3 2
Cs,Co, C7 u’ +u’ 4+ 2u" + 2u” +2u” +2u+1
€8, €10, C12

64



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €9, C11 Yo — g + Ayt — 207 + 8y + 1
C2,C3,C4
64+ 3y° +4y* +2¢° + 1
C5, Ce, C7 Yy oy +ayt +2y7 +
Cg, €10, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
u = —0.498832 + 1.0013007
a= 0
b= —0.498832 + 1.0013007 | —0.26574 — 2.828121 1.50976 + 2.979451

c= 0.183526 — 0.5070211
d = —1.105040 + 0.3814251

u = —0.498832 — 1.0013007
a = 0

b= —0.498832 — 1.001300I | —0.26574 + 2.828121 1.50976 — 2.979451
c= 0.183526 + 0.5070217
d = —1.105040 — 0.3814251

u=0.284920 4 1.1151407
a = 0

b= 0.284920 + 1.1151401 | —4.40332 —5.01951 + 0.1
¢ = —0.784920 + 0.8417951
d= —3.70216 — 1.47725]

u=0.284920 — 1.1151407
a = 0

b= 0.284920 — 1.1151407 | —4.40332 —5.01951 4+ 0.1
c = —0.784920 — 0.8417951
d = —3.70216 + 1.477251

u = 0.713912 4 0.3058391
a = 0

b= 0.713912 + 0.3058391 | —0.26574 — 2.828121 1.50976 + 2.979451
c= —1.39861 — 0.800127

d = —0.692808 — 0.7611227

uw=0.713912 — 0.3058391
a= 0

b= 0.713912 — 0.305839I | —0.26574 + 2.828121 1.50976 — 2.979451
c = —1.39861 + 0.800121

d = —0.692808 + 0.7611221
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XV. I =(d+1, c—u, b, a —u, u> +1)

(i) Arc colorings

0
ag — u

1
ag = \ -1

U
ail =\ -1

1
ag = 0

1
a; = \0

u +

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,C7 U
€3,C4,C5
2
€65 €8, C10 u+1
C12
2
Cg,C11 (u — 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C2,C7 Yy
€3,C4,C5
2
C6, €85 C10 (y+1)
C12
2
C9, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a= 1.0000001
b= 0 —1.64493 0
c= 1.0000001
d = —1.00000
U = — 1.0000001
a= — 1.0000001
b= 0 —1.64493 0
c= — 1.0000001
d = —1.00000
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XVL I, =(d+1,c—u, b—u, a—1, u? +1)

(i) Arc colorings

w= (o)

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C9 (u — 1)
C2,C3,C4
2
C5,C7,C8 u+1
C10
2
C6,C11, C12 (%
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
€1, Co (y—1)
C2,C3,C4
2
C5,C7,C8 (y+1)
C10
2
C6,C11, C12 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a = 1.00000
b= 1.000000 | —1.64493 0
c= 1.0000001
d = —1.00000
U = — 1.0000001
a = 1.00000
b= — 1.0000007 | —1.64493 0
c= — 1.0000001
d = —1.00000
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XVIL I, =(d—u, ¢, b—u, a — 1, u®> + 1)

(i) Arc colorings

o (0
= (1)
en= ()
e ()
o= (1)
o= (")
o= (1)
o= (")
w= (1)
e )

(ii) Obstruction class =1

(iii) Cusp Shapes =0

(0]



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C11 (u — 1)
C2,C3,C4
2
€6, C7,C8 u+1
C12
2
Cs5,C9, C10 U
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C1 (y—1)
C2,C3,C4
2
Ce,C7,C8 (y+1)
C12
2
Cs5,C9, C10 Y

7



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a = 1.00000
b= 1.000000 | —1.64493 0
c= 0
d= 1.0000001
U = — 1.0000001
a = 1.00000
b= — 1.0000007 | —1.64493 0
c= 0
d= — 1.0000001
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XVIIL Iy =(da+u+1, c—u, b—u, u?+1)

(i) Arc colorings

(ii) Obstruction class = —1
(iii) Cusp Shapes = —6

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to Ijs | v/—1(vol ++/—1CS) Cusp shape
u = e e .
a = ---
b= —3.28987 —6.00000
c—
d =
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XIX. I ={(a, d+v, c+a+1, b—v, v¥+1)

(i) Arc colorings

o= (o)
)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 2
C1,C9, C11 (u— )
C2,C5, C
2,05, C6 U2 + 1
C7,C10,C12
2
C3,C4,C8 u

82



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
—1)2
C1,C9, C11 (y )
C2,Cs5, Ce (y+1)2
C7,C10,C12
2
C3,C4,C8 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y=1CS)

Cusp shape

S
T (|

1.0000001
0
1.0000001
—1.00000
— 1.0000001

—4.93480

—12.0000

QU o o 8 ([ o

—1.0000001
0
— 1.0000001
—1.00000
1.0000001

—4.93480

—12.0000
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XX. u-Polynomials

Crossings u-Polynomials at each crossing
u?(u —1)%(u® + 3u® 4+ 2u — 1)?(u* + 2u® + 3u® +u +1)°

c1.co.c1 (u® + 3u® 4 4ut + 20 4 1)5
(u® 4 6u” + 13u’® + 10u® — 2u* — 4u® + u? + 3u + 4)
(' 4u® 4+ 10u® + 140" + 1568 + 100° + Tu + 50 + 110 + 11u + 4)?
St 4 5u® + 11u® 4+ 13u” + 8u + 2u® + ut — ud + 16u + 16)
(w4 sutt 4 Bu 1)
w?(u? +1)3(u® — u® 4 2u — 1) (u? +u? —u +1)°

C2,C5, Co S+ u®  2ut 20 20+ 2u 4 1)°

€7, €10, C12 (u8+3u —2u® + 2u* — 4P U —u+2)
(' = 2u® + 4u® — 4u” + 5u — 6u’ 4 Tut — Tud + 5u? — 3u + 2)?
(' u® 4 3u® + 3u” 4 4uS + du® 4 3ut + 5ud + 4w 4 4+ 4)
(' a4 30t 4 30 + Tu® + Tu” 4 8uS + Tud + 9ut + 6ud + 3u® 4 1)
w?(u? + 1)3(u® —u? +2u —1)5(u? +u? —u+1)

3, C4,C8 (u® +u® 2t 20 4 20 4 2u + 1)3
(B 4 3u® — 205 + 20t — 4ud Fu? —u+2)3
(' + +6u + 6u” + 13u8 + 13u° + 11u* 4 10u® 4 2u® + 1)3
St e du - 4)
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Crossings

XXI. Riley Polynomials

Riley Polynomials at each crossing

C1,Cg, C11

v (y— 1y — 59" + 10y — 1)*(y* +20° + 7y° + 5y + 1)°
Y — P +ayt — 22 + 82 +1)°

8 7 6 5 4 3 2
y° — 10y" + 45y° — 102y° + 82y~ + 24y° + 9y* — y + 16)
y' —3y? + -+ — 256y + 256)(y'° + 4y + - — 33y + 16)?

(
(
(
(Y9t 4418y + 1)

C2,Cs5, Cg

C7,C10, C12

v (y+ D%(y° +3y° + 2y — D (y" +20° + 3y +y +1)°
(y° + 3y° + dy* +24° +1)°
(y® + 6y7 + 13y5 +10y° — 2yt — 4y® + 2 + 3y +4)
(y"0 4 4y° + 1008 + 14y" + 15y + 10y° + Ty + 5y + 11y% + 11y + 4)2
Syt + 5y° 4 1198 4 13y7 + 895 + 2% + y* — 47 + 16y + 16)
Sy 45yt - 6y 4+ 1)

C3,C4,C8

v+ D%y +3y° +2y - D°(y" + 207 + 3y +y + 1)

C(y° 4 3y° + 4yt + 27 +1)°

(% + 6y + 13y° +10y° — 2" — 47 + 7 + 3y + 4)°
(W11 4 Ay + 1)) (" 11y 4 - 4 48y + 16)
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